© T hi RIS ik it
O A A RFTFH X

#
o

=

N ERIRARREL

Al

]
—

oy

24

ZieS: tRf
XC8: 1T#2A[AO ~ 5mm

A

TS| aEEiting  WANE SEmE 1752
W |mmms (mm) (mm)
. ) B [zAm
) RETHLEWE RS [ SFE A: BSEmH
ST, BHEFS L |MER H: {RE
% P461 D |WE®RE N: FT&ih
F |z
' EETT
c |wEmm
G |Exzm
T
HRAE mm 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
HEAK Wzh
EANR ZENERES
RIEME A MPa 15
meEREN MPa 1.0
=IREREAN MPa 0.1
ERRIERE T -10 ~ 60(EREXLE)
Zif =EREN
N ~ . +1.0 - . +15
FREAIFIRE e 0~250: "' 251 ~1000: *7
HERE mm/ s 50 ~ 500
ZEREN HAR, BIER, E=R, BEIRE, WEHRE
EREERE: k) B e
1. ERAMBEREREEBAN, BEOR|1/8 1/4 3/8 1/2

2. ERHMFREESRIRER, HARABBREM,
3. EEFHERMARIEHETFX, MBERREHR.
4.1THarh EHhSY, EBRR B

*INEE RIS AET 1 Sl (S0VG32)

L RETRE/ BmiTRR  ERFEE

&2 42 (mm) RAELTEE(mm) Z 1T (mm) ERFE
32 18.8
40 18.8
50 21.3
63 25 50 75 100 213
80 125 150 175 200 30.3 MT-21 &3l
100 250 300 400 500 293
125 40.0
160 40.0
200 50.0

i FEREMMIRIESE P535,

441



ED

R (k)

PN IEES 32 40 50 63 80 100

= YNES s 0.52 0.71 1.22 1.51 2.79 3.77

£ 50mm TR IME S & 0.14 0.19 0.3 0.32 0.5 0.65

B = 0.12 0.14 0.22 0.28 0.5 0.68

EE 0.29 0.37 0.45 0.79 1.45 3.31
REEG

BEHIR 0.25 0.26 0.34 0.63 1.11 3.17

WEIHR 0.26 0.27 0.43 0.79 1.4 3.69

ﬁ (] 0.15 0.23 0.26 0.26 0.6 0.83
RS

m" \&:l 0.22 0.37 0.43 0.43 0.87 1.27

&%) EDMB40-200A

442

0.71(EA%EE) + 0.19x200/50 = 1.47kg



ED

®FEZEH
ED %% F E iR E 1 B
S Xt Rz ELR
ED32-PS 32
ED40-PS 40
ED50-PS 50
ED63-PS 63
ED80-PS 80
ED100-PS 100
ED125-PS 125
ED160-PS 160
ED200-PS 200
HiEE
W77
| |
wEr L © % H&
2!
e Ay e | N
R I
- — & 2
=rA & N>
FEFH
No. SHER R No. THEHR HIE
1 ki BN 12 EETHE NBR
2 BEFNRES B 13 o -
3 EENEHE NBR 14 HEHE v
- ﬁﬁi Wiiffm 15 B 2
6 AwEE NER 16 REMRE ilal
7 CEE] NBR 7 2R el
8 ﬁ[% %E,g.‘ 18 Eﬁ%% %El'gl'
9 HEREE 2E 19 Frpist e
10 O #IE NBR 20 O B[ NBR
11 EEA Y 21 HEEEER B

443



ED

5MEERF (mm)
E-YiN
EDMB

sSw MM G 2-P(Rc) G ZiEFHE W X Port

\ 7N S
\ — ™h N2 IRANSZ
! < W
A= 7 ]
B — L %/fg;
= ——=H = = S
=% I N7 )\
v B
| A
A KlILF N 2x4-J N
H S+i77 0c
ZiHE 0B
aERE | TEEE | gl oc o |E|F |6 | H | | J K |Ma|mg| MM NP | s |x|w/|z|swlu
(mm) (mm)
32 | ~500 | 22| 46 |325| 12|30 | 13| 13 | 47 |195| M6x1.0 | 6 | 16 | 4 |Mi0x125]| 26 | 1/8 | 84 | 4 | 65 |135| 15| 6
40 | ~500 | 30| 52 | 38 |16 35|13 | 14 | 51 | 27 | M6x10 | 6 | 16 | 4 |M14x15| 26 | 1/4 | 85 | 4 | 9 |140|21 |7
50 | ~600 | 35| 65 | 46520 |40 | 14 |155| 58 | 32 |M8x1.25| 7 | 16 | 5 | M18x15| 295 | 1/4 | 94 | 5 |105|156|24 | 8
63 | ~600 | 35| 75 | 56520 |45 | 14 | 165 58 | 32 |M8x1.25] 7 | 16 | 5 | M18x15| 295 | 3/8 | 94 | 9 | 12 | 156 | 24 | &
80 | ~1000 | 40| 95 | 72 | 25|45 |20 | 19 | 72 | 37 |M10x15] 10 | 16 | 5 | M22x15| 35 | /8 | 114 |11.5] 14 | 190 | 30 | 10
100 | <1000 | 40| 114 | 89 |30 55|20 19 | 72 | 37 |M10x15] 10 | 16 | 5 |M26x15| 35 | 1/2 | 114 | 17 | 15 |190] 36 | 12
125 | ~1200 | 54 | 140 | 110 |32 |60 | 45| 23 | 119 | 51 | Mi2 |16 | 20 | = | M27x2 | 46 | 12 | 160 | 10 | 17 |279| 38 | 12
160 | ~1200 | 72| 180 | 140 |40 | 65 |58 | 25 | 152| 69 | M16 | 12 | 24 | - | M36x2 | 50 | 3/4 | 180 | 18 | 25 |332 | 48 | 15
200 | ~1500 | 72| 220 | 175 | 40 | 75 | 60 | 25 | 167 | 69 | M6 | 16 | 24 | — | M36x2 | 50 | 3/4 | 180 | 18 | 25 | 347 | 48 | 15
-~ xa: 4R
WiE TR ﬁ%ﬁ'*])l zv| H [vw| F MM
mm
EDWMB 32 |178] 47 | 4 | 13 | M10x1.25
MM T H MM 40 186 | 51 4 13 M14x 1.5
= — 1 TR 50 210 | 58 6 14 | M18x1.5
i ‘ﬂ _ _ _ T B ¥ I 63 210 | 58 6 14 | M18x1.5
I —— [ 80 258 | 72 8 20 M22 x 1.5
’—\‘ T
[ - Ft 100 258 | 72 8 20 M26 x 1.5
K VD VD 125 398|119 | - 45 M27 x 2
A ! E | " ?‘%"K A 160 484 | 152 | - 58 M36 x 2
+1T4=E
SV 200 |514|167| - | 60 | M36x2

444



ED

REFEH

R B p L]

LA
(€

3 — - |
\\I I T / ~
LX 5 4-9LD FX
Lz AATED S FZ FE_|[FT
HENE | 5o Rt (mm) m= Rt (mm)
= =
(mm) LD | LH | LT | LX LY Lz X Y B FD | FE | FT | FEX | FY | FZ
32 ED-LO3 | 7 30 | 40 | 32 53 50 | 22 9 C95-F03 | 50 7 3 10 | 64 | 32 79
40 ED-L04 9 33 | 40 | 38 59 55 24 11 C95-F04 | 55 9 3 10 72 36 90
50 ED-L05 9 40 | 40 | 46 72.5 70 27 11 C95-F05 | 70 9 2 12 90 45 | 110
63 ED-LO6 | 12 | 45 | 40 | 56 | 825 | 80 | 27 14 | C95-F06 | 80 9 2 12 | 100 | 50 | 120
80 ED-LO8 | 12 | 55 | 45 | 72 | 1025 | 100 | 30 14 | C95-F08 | 100 | 12 4 16 | 126 | 63 | 153
100 ED-L10 | 14 | 65 | 45 | 89 122 | 120 | 32 16 | C95-F10 | 120 | 14 4 16 | 150 | 75 | 178
125 ED-L12 | 16 90 8 90 - 140 | 45 | 20 | C95-F12 | 140 | 16 - 20 | 180 | 90 | 220
160 ED-L16 | 18 | 115 | 9 115 - 184 | 60 | 25 | C95-F16 | 180 | 18 - 20 | 230 | 115 | 280
200 ED-L20 | 24 | 135 | 12 | 135 - 228 | 70 30 | C95-F20 | 220 | 22 - 25 | 270 | 135 | 315
BHERE WEIRE
CDH9 B

CDH9

o oTLe L TR

ﬂ(ﬁmg)ﬁ me R~t (mm) me R~F (mm)

CD | CX L RR U OB| L RR U CD | CX | Cz Z Y4
32 ED-C03 10 14 23 |10.5| 13 ED-DO03 46 23 |10.5| 13 10 14 28 154 | 164.5
40 ED-C04 10 14 23 11 13 ED-D04 52 23 11 13 10 14 28 158 | 169
50 ED-CO05 14 20 30 15 17 ED-DO05 65 30 15 17 14 20 40 182 | 197
63 ED-CO06 14 20 30 15 17 ED-D06 75 30 15 17 14 20 40 182 | 197
80 ED-C08 22 | 30 | 42 | 23 | 26 ED-DO08 95 | 42 | 23 | 26 | 22 | 30 | 60 | 228 | 251
100 ED-C10 22 | 30 | 42 | 23 | 26 ED-D10 | 114 | 42 | 23 | 26 | 22 | 30 | 60 | 228 | 251
125 ED-C12 25 70 50 25 30 ED-D12 120 | 50 25 30 25 - - - -
160 ED-C16 30 90 55 25 35 ED-D16 160 | 55 25 35 30 - - - -
200 ED-C20 30 90 60 25 35 ED-D20 160 | 60 25 35 30 - - - -

445



ED

AEFREG

I #k
MM ONDH9 45
¢ 3/
- -+

_ G dEsh
e |

: DO W

Al ! Ut
L1
A NX
ELREAE me Rf (mm)
(mm) = A A1l EA1 L1 MM ND NX R1 U1

32 ED-103 40 14 20 30 M10x 1.25 10 14 12 16

40 ED-104 50 19 22 40 M14 x 1.5 10 14 12.5 19

50 ED-105 64 24 28 50 M18 x 1.5 14 20 16.5 | 24

63 ED-106 64 24 28 50 M18 x 1.5 14 20 16.5 | 24

80 ED-108 80 26 40 60 M22 x 1.5 22 30 | 235 | 34

100 ED-I10 80 26 40 60 M26 x 1.5 22 30 | 235 | 34
Y Hek
&y 2o 2
a
<
MM ®NDH9 4 ’» 1
I U M |
o x|y
< EEEEE] L
|
U1
L1
Y BV SER R (MEM)
HENE me R (mm)

(mm) = D d E1 | L1 L MM M ND NX Nz R1 U1
32 ED-Y03 10 3 20 36 30 44 M10 x 1.25 4 10 14 28 10 16
40 ED-Y04 10 3 22 36 40 44 M14 x 1.5 4 10 14 28 11 19
50 ED-Y05 14 4 28 51 50 60 M18 x 1.5 4.5 14 20 40 14 24
63 ED-Y06 14 4 28 51 50 60 M18 x 1.5 4.5 14 20 40 14 24
80 ED-Y08 22 4 40 72 65 82 M22 x 1.5 5 22 30 60 20 34
100 ED-Y10 22 4 40 72 65 82 M26 x 1.5 5 22 30 60 20 34

446





